

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: May 17, 2021

Progress Estim	nate Number	Contract ID Prime Contractor	201016-B02 Emery Sapp & So		Pay Period Start Pay Period End		Original Contract Amount Net Change Order Amount Current Contract Amount	\$3,821,943.42 \$1,554.00 \$3,823,497.42
Approval Date								By User
May 17, 2021	Generated and Approved (and should be considered Draft) at the Project Office Level by							
May 17, 2021		Rev	viewed and Approv	ed (and s	hould be considere	ed Draft) at the	Resident Engineer Level by	lincom
May 18, 2021			R	eviewed a	and Approved at th	e Central Office	e Controllers Office Level by	ramses1
Original Comp	Original Completion Date Current Completion Date Actual Completion Date % of Current Contract							nt Complete
November	November 1, 2021 November 1, 2021 14.52%							
	Contract	Informational Date	es .		Milest	ones		

	Milestones		
Date Description	Original Completion Date	No Milestones Exist for Contract	
Acceptance Date			
Awarded Date	November 5, 2020	November 5, 2020	
Letting Date	October 16, 2020	October 16, 2020	
Notice to Proceed Date	January 4, 2021	January 4, 2021	
Work Began Date			

Contract Total Pay F	For Estimate No. 4				
		This Estimate	Previous	To Date	
201016-B02					
	Total Posted Items Pay	\$395,122.99	\$160,006.95	\$555,129.94	
	Gross Item Adjustments	\$14,320.51	\$3,273.80	\$17,594.31	
	Incentive	\$0.00	\$0.00	\$0.00	
	Disincentive	\$0.00	\$0.00	\$0.00	
	Liquidated Damage	\$0.00	\$0.00	\$0.00	
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00	
	•		\$163,280.75	\$572,724.25	
Contract Total Payal	ble This Estimate:	\$409,443.50			

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J2S3229	0350	3105002	GRAVEL (A) OR CRUSHED STONE (B)	TONS	\$66.000	20	\$1,320.00
	0360	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	TONS	\$61.300	5,797.8	\$355,405.14
	0370	4071005	TACK COAT	GAL	\$2.150	4,253	\$9,143.95
	0390	6161005	CONSTRUCTION SIGNS	SQFT	\$4.750	512	\$2,432.00
	0410	6161025	CHANNELIZER (TRIM LINE)	EA	\$16.000	-72	(\$1,152.00)
	0420	6181000	MOBILIZATION	LS	\$25,000.000	0.5	\$12,500.00
Project J2	S3229 - To	tal					\$379,649.09
J2S3348	0970	6161005	CONSTRUCTION SIGNS	SQFT	\$4.750	400	\$1,900.00
	0980	6161009	FLAG ASSEMBLY	EA	\$8.500	6	\$51.00
	0990	6161025	CHANNELIZER (TRIM LINE)	EA	\$16.000	75	\$1,200.00
	1010	6161040	FLASHING ARROW PANEL	EA	\$795.000	1	\$795.00
	1020	6181000	MOBILIZATION	LS	\$3,000.000	0.5	\$1,500.00
	1070	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	SQYD	\$5.850	822	\$4,808.70
	1080	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	SQYD	\$5.600	932	\$5,219.20
Project J2	S3348 - To	tal					\$15,473.90
Overall - T	otal						\$395,122.99

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

Revision 4/1/2020 Page 1 of 11



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: May 17, 2021

Progress Estimate Number
4

Contract ID 201016-B02 Pay Period Start Pay Period Start Pay Period End Pay Period

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J2S3229	0360	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Overrun			-14.5	\$61.30	(\$888.85)
	0360	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Material			-7,438.8	\$61.30	(\$455,998.44)
	0360	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Overrun		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0001) overridding Payment Estimate Exception 3 on the current Payment Estimate. Material Insufficiency Quantity 7438.800; Overrun Quantity Balance 14.50.	14.5	\$61.30	\$888.85
	0360	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0002) due to user suttoc2 overridding Payment Estimate Exception 1 on the current Payment Estimate.	7,438.8	\$61.30	\$455,998.44
	0360	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Other Item Adjustment	Asphalt Cement Price Adjustment	Correction to Line Item Adjustment made on estimate 0003 on April 30th 2021. 1641 tons had been reported and \$3,273.80 had been added as the adjustment. 1641.1 tons should have been reported and \$3,273.99 should have been added as the adjustment.			\$0.19
	0360	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Other Item Adjustment	Asphalt Cement Price Adjustment	May 1, 2021 - 1,609.2 tons			\$3,974.72
	0360	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Other Item Adjustment	Asphalt Cement Price Adjustment	May 3, 2021 - 907.9 tons			\$2,242.51
	0360	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Other Item Adjustment	Asphalt Cement Price Adjustment	May 6, 2021 - 1,845.4 tons			\$4,558.14
	0360	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Other Item Adjustment	Asphalt Cement Price Adjustment	May 10, 2021 - 1,161.1 tons			\$2,867.92
	0360	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Other Item Adjustment	Asphalt Cement Price Adjustment	May 11, 2021 - 274.1 tons			\$677.03
	0370	TACK COAT	Material			-5,839	\$2.15	(\$12,553.85)
	0370	TACK COAT	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0003) due to user suttoc2 overridding Payment Estimate Exception 2 on the current Payment Estimate.	5,839	\$2.15	\$12,553.85
otal								\$14,320.51

Revision 4/1/2020 Page 2 of 11



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					C	Contract Project Information	1	
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work	
J2S3204	FAS- S202(003)	Seal Coat	J	RALLS	from Rte. 36 to Rte. 1	154 at Perry		
J2S3205	FAS- S202(004)	Seal coat	W	RALLS	from Rte. 24 in Monro	oe City to Rte. J		
J2S3209	FAS- S202(015)	Seal coat	W	MARION	from Rte. 61 north jur	nction to Rte. 61 south junc	tion and on Rte. 61 outer road from Rt	e. W to 0.3 mile south of Rte. W in Hannibal
J2S3229	FAS S201(71)	Resurface	А	MARION	from Rte. 6 to Rte. 16	88 near Palmyra		
J2S3302	FAS S201(73)	Resurface	Н	RALLS	from Rte. 36 to Rte. 1	19 at Center		
J2S3305	FAF-61-4(185)	Seal coat	61	MARION	from 0.1 mile north of	Rte. BB to 0.1 mile north of	of Rte. 24 and Rte. 61 in Palmyra	
J2S3306	FAS S201(75)	Seal coat	168	MARION	from Rte. 15 to Bus 6	1 in Palmyra		
J2S3331	FAS-	Seal coat	С	MARION	from Rte. Z west junc	tion to Rte. 168 near Palm	yra	
J2S3348	S202(006) FAS- S202(014)	Resurface	DD	RALLS	from Rte. 36 to end o	f state maintenance near H	luntington Lane	
J2S3349	FAS- S202(008)	Seal coat	Z	MARION	from Rte. C to Rte. 36	6 near Monroe City		
Γotals by J	Job Numbers							
J2S3204					This Estimate	Previous	To Date	1
0200204	Posted Iten				\$0.00	\$15,806.00	\$15,806.00	
	Gross Item	Adjustments Gr	oss Item	Pay	\$0.00 \$0.00	\$0.00 \$15,806.00	\$0.00 \$15,806.00	
	Incentive				\$0.00	\$0.00	\$0.00	
	Disincentiv Liquidated				\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	
		ract Adjustme	nts		\$0.00	\$0.00	\$0.00	
J2S3205					This Estimate	Previous	To Date	1
	Posted Item Gross Item	n Pay Adjustments			\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	
			oss Item	Pay	\$0.00	\$0.00	\$0.00	
	Incentive Disincentive	' 0			\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	
	Liquidated	Damages			\$0.00	\$0.00	\$0.00	
	Other Cont	ract Adjustme	nts		\$0.00	\$0.00	\$0.00	
J2S3209	Posted Iten	n Pav			This Estimate \$0.00	Previous \$0.00	To Date \$0.00	
		Adjustments	16	Davi	\$0.00	\$0.00	\$0.00	
		Gr	oss Item	Pay	\$0.00	\$0.00	\$0.00	
	Incentive Disincentiv				\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	
	Liquidated Other Cont	Damages ract Adjustme	nts		\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	
J2S3229					This Estimate	Previous	To Date	1
	Posted Item				\$379,649.09	\$138,900.95	\$518,550.04	
	Gross Item	Adjustments Gr	oss Item	Pay	\$14,320.51 \$393,969.60	\$3,273.80 \$142,174.75	\$17,594.31 \$536,144.35	
	Incentive				\$0.00	\$0.00	\$0.00	
	Disincentiv Liquidated				\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	
		ract Adjustme	nts		\$0.00	\$0.00	\$0.00	
J2S3302		_			This Estimate	Previous	To Date	1
	Posted Item Gross Item	n Pay Adjustments			\$0.00 \$0.00	\$5,300.00 \$0.00	\$5,300.00 \$0.00	
			oss Item	Pay	\$0.00	\$5,300.00	\$5,300.00	
					\$0.00	\$0.00	\$0.00	
	Incentive				ድር ርር			
	Disincentiv Liquidated	Damages	4		\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	
	Disincentiv Liquidated		nts		\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	
J2S3305	Disincentiv Liquidated	Damages ract Adjustme	nts		\$0.00	\$0.00	\$0.00	
J2S3305	Disincentive Liquidated Other Cont	Damages ract Adjustme n Pay Adjustments		Pav	\$0.00 \$0.00 This Estimate \$0.00 \$0.00	\$0.00 \$0.00 Previous \$0.00 \$0.00	\$0.00 \$0.00 To Date \$0.00 \$0.00	
J2S3305	Disincentiv Liquidated Other Cont Posted Iten Gross Item	Damages ract Adjustme n Pay Adjustments	nts oss Item	Pay	\$0.00 \$0.00 This Estimate \$0.00 \$0.00	\$0.00 \$0.00 Previous \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 To Date \$0.00 \$0.00 \$0.00	
J2S3305	Disincentive Liquidated Other Cont	Damages ract Adjustme n Pay Adjustments Gr		Pay	\$0.00 \$0.00 This Estimate \$0.00 \$0.00	\$0.00 \$0.00 Previous \$0.00 \$0.00	\$0.00 \$0.00 To Date \$0.00 \$0.00	

Revision 4/1/2020 Page 3 of 11



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

Totals by Jo	b Numbers			
J2S3306		This Estimate	Previous	To Date
020000	Posted Item Pay	\$0.00	\$0.00	\$0.00
	Gross Item Adjustments	\$0.00	\$0.00	\$0.00
	Gross Item Pay	\$0.00	\$0.00	\$0.00
	Gross Rein'r dy	ψ0.00	ψ0.00	40.00
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damages	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00
J2S3331		This Estimate	Previous	To Date
	Posted Item Pay	\$0.00	\$0.00	\$0.00
	Gross Item Adjustments	\$0.00	\$0.00	\$0.00
	Gross Item Pay	\$0.00	\$0.00	\$0.00
	•			
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damages	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00
J2S3348		This Estimate	Previous	To Date
0200040	Posted Item Pay	\$15,473.90	\$0.00	\$15,473.90
	Gross Item Adjustments	\$0.00	\$0.00	\$0.00
	Gross Item Pay	\$15,473.90	\$0.00	\$15,473.90
	Cross Rolli Luy	ψ10,410.00	ψ0.00	ψ10, 4 10.00
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damages	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00
J2S3349		This Estimate	Previous	To Date
	Posted Item Pay	\$0.00	\$0.00	\$0.00
	Gross Item Adjustments	\$0.00	\$0.00	\$0.00
	Gross Item Pay	\$0.00	\$0.00	\$0.00
			• • • • • • • • • • • • • • • • • • • •	1
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damages Other Contract Adjustments	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00

Revision 4/1/2020 Page 4 of 11



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J2S3229, Item 4020520, Project Item Line Number 0360, Material Set 402052096, Material 0402SLPMSL - Plant Mix for Surface Leveling, Acceptance Action Generic AspSL is insufficient.	Waiting on QA and QC test results to be correctly submitted. All parties are aware of what shall be done to resolve the issue.	suttoc2	Overridden
Estimate Exception Type: Insufficient Materials: Project J2S3229, Item 4071005, Project Item Line Number 0370, Material Set 407100596, Material 1015EASS1 - Emulsified Asphalt SS-1, Acceptance Action Generic AspEmulsion is insufficient.	Materials will need to remove the SS-1 certification requirement because they are not using that type of emulsified asphalt so there will be no certification required.	suttoc2	Overridden
Estimate Exception Type: Item Overrun: Contract 201016-B02, Contract Project J2S3229, Project Item Line Number 0360, Contract Line Item Number 0360, Item 4020520, Minor Item.	Change order currently in progress to cover the overrun total. The total tonnage was accepted by the engineer and inspector, and the contractor will be paid.	suttoc2	Overridden

Revision 4/1/2020 Page 5 of 11



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Sted Quantities	and valu	es are b	ased on R	eport Generated date and can differ from the posted amo	ount at the	time the	Estimate wa	s Gener	ated.		
ract Project TRACT No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
J2S3204	0001	0010	4091048	EMULSIFIED ASPHALT, SEAL COAT	89,953.00	0.00	89,953.00	GAL	0.00	\$2.17	\$0.00
	0001	0020	4094012	SEAL COAT AGGREGATE, GRADE B2	321,261.00	0.00	321,261.00	SQYD	0.00	\$0.62	\$0.00
	0001	0030	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$500.00	\$0.00
	0001	0040	6161005	CONSTRUCTION SIGNS	2,534.00	0.00	2,534.00	SQFT	0.00	\$4.75	\$0.00
	0001	0050	6161009	FLAG ASSEMBLY	6.00	0.00	6.00	EA	0.00	\$8.50	\$0.00
	0001	0060	6161025	CHANNELIZER (TRIM LINE)	100.00	0.00	100.00	EA	0.00	\$16.00	\$0.00
	0001	0070	6181000	MOBILIZATION	1.00	-1.00	0.00	LS	0.00	\$150,000.00	\$0.00
	0001	0071	6181000	MOBILIZATION	0.00	1.00	1.00	LS	0.00	\$134,194.00	\$0.00
	0001	0080	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	199,432.00	0.00	199,432.00	LF	0.00	\$0.11	\$0.00
	0001	0090	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	107,320.00	0.00	107,320.00	LF	0.00	\$0.11	\$0.00
	0001	0100	6206124A	24 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	24.00	0.00	24.00	LF	0.00	\$10.60	\$0.00
	0001	0110	6209902	MISC.RAILROAD CROSSING PAVEMENT MARKING	2.00	0.00	2.00	EA	0.00	\$850.00	\$0.00
	0001	5001	6181000	MOBILIZATION	0.00	1.00	1.00	LS	1.00	\$15,806.00	\$15,806.00
				ate as of Report Generated Date							\$15,806.00
J2S3205	0001	0120	4091048	EMULSIFIED ASPHALT, SEAL COAT	16,408.00	0.00	16,408.00	GAL	0.00	\$2.17	\$0.00
	0001	0130	4094012	SEAL COAT AGGREGATE, GRADE B2	58,598.00	0.00	58,598.00	SQYD	0.00	\$0.75	\$0.00
	0001	0140	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$500.00	\$0.00
	0001	0150	6161005	CONSTRUCTION SIGNS	773.00	0.00	773.00	SQFT	0.00	\$4.77	\$0.00
	0001	0160	6161009	FLAG ASSEMBLY	4.00	0.00	4.00	EA	0.00	\$8.50	\$0.00
	0001	0170	6161025	CHANNELIZER (TRIM LINE)	40.00	0.00	40.00	EA	0.00	\$16.00	\$0.00
	0001	0180	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.00	\$2,000.00	\$0.00
	0001	0190	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	42,251.00	0.00	42,251.00	LF	0.00	\$0.11	\$0.00
	0001	0200	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	8,011.00	0.00	8,011.00	LF	0.00	\$0.16	\$0.00
Project .	2S3205 - T	otal Value	Posted to D	ate as of Report Generated Date							\$0.00
J2S3209	0001	0210	4091048	EMULSIFIED ASPHALT, SEAL COAT	13,335.00	0.00	13,335.00	GAL	0.00	\$2.15	\$0.00
	0001	0220	4094002	SEAL COAT AGGREGATE, GRADE A2	47,623.00	0.00	47,623.00	SQYD	0.00	\$0.79	\$0.00
	0001	0230	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$500.00	\$0.00
	0001	0240	6161005	CONSTRUCTION SIGNS	1,250.00	0.00	1,250.00	SQFT	0.00	\$4.75	\$0.00
	0001	0250	6161009	FLAG ASSEMBLY	6.00	0.00	6.00	EA	0.00	\$8.50	\$0.00
	0001	0260	6161025	CHANNELIZER (TRIM LINE)	75.00	0.00	75.00	EA	0.00	\$16.00	\$0.00
	0001	0270	6161033	DIRECTIONAL INDICATOR BARRICADE	18.00	0.00	18.00	EA	0.00	\$26.50	\$0.00
	0001	0280	6161040	FLASHING ARROW PANEL	1.00	0.00	1.00	EA	0.00	\$794.00	\$0.00
	0001	0290	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.00	\$2,000.00	\$0.00
	0001	0300	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	71.00	0.00	71.00	LF	0.00	\$21.50	\$0.00
	0001	0310	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	2.00	0.00	2.00	EA	0.00	\$264.00	\$0.00
	0001	0320	6200027	PREFORMED THERMOPLASTIC PAVEMENT MARKING, COMBINATION STR/LT/RT	2.00	0.00	2.00	EA	0.00	\$424.00	\$0.00
	0001	0330	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	28,275.00	0.00	28,275.00	LF	0.00	\$0.11	\$0.00
	0001	0340	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	27,798.00	0.00	27,798.00	LF	0.00	\$0.11	\$0.00
				ate as of Report Generated Date			0.1.00	T0110		***	\$0.00
J2S3229		0350	3105002	GRAVEL (A) OR CRUSHED STONE (B)	81.00	0.00	81.00	TONS	20.00	\$66.00	\$1,320.00
	0001	0360	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	7,424.30	0.00	7,424.30	TONS	7,438.80	\$61.30	\$455,998.44
	0001	0370	4071005	TACK COAT	7,979.00	0.00	7,979.00	GAL	5,839.00	\$2.15	\$12,553.85
	0001	0380	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$500.00	\$0.00
	0001	0390	6161005	CONSTRUCTION SIGNS	1,122.00	0.00	1,122.00	SQFT	951.00	\$4.75	\$4,517.25
	0001	0400	6161009	FLAG ASSEMBLY	4.00	0.00	4.00	EA	4.00	\$8.50	\$34.00

Revision 4/1/2020 Page 6 of 11



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

tract NTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTE To Date (See repor generated date)
B02	J2S3229	0001	0410	6161025	CHANNELIZER (TRIM LINE)	100.00	0.00	100.00	EA	28.00	\$16.00	\$448.
		0001	0420	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$25,000.00	\$25,000.
		0001	0430	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	89,179.00	0.00	89,179.00	LF	0.00	\$0.11	\$0.
		0001	0440	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	72,217.00	0.00	72,217.00	LF	0.00	\$0.11	\$0.
		0001	0450	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	569.00	0.00	569.00	SQYD	569.00	\$16.50	\$9,388.
		0001	0460	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	1,210.00	111.00	1,321.00	SQYD	1,110.00	\$14.00	\$15,540.0
	Project J2	2S3229 - To	tal Value	Posted to D	ate as of Report Generated Date							\$524,800.
	J2S3302	0001	0470	3105002	GRAVEL (A) OR CRUSHED STONE (B)	334.00	0.00	334.00	TONS	0.00	\$74.00	\$0.
		0001	0480	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	19,758.50	0.00	19,758.50	TONS	0.00	\$54.80	\$0.
		0001	0490	4071005	TACK COAT	16,853.00	0.00	16,853.00	GAL	0.00	\$2.15	\$0.
		0001	0500	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$500.00	\$0.
		0001	0510	6161005	CONSTRUCTION SIGNS	1,879.00	0.00	1,879.00	SQFT	0.00	\$4.75	\$0.
		0001	0520	6161009	FLAG ASSEMBLY	6.00	0.00	6.00	EA	0.00	\$8.50	\$0.
		0001	0530	6161025	CHANNELIZER (TRIM LINE)	100.00	0.00	100.00	EA	0.00	\$16.00	\$0.
		0001	0540	6161033	DIRECTIONAL INDICATOR BARRICADE	18.00	0.00	18.00	EA	0.00	\$26.50	\$0.
		0001	0550	6161040	FLASHING ARROW PANEL	2.00	0.00	2.00	EA	0.00	\$794.00	\$0.
		0001	0560	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	2.00	\$2,650.00	\$5,300
		0001	0570	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.00	\$3,600.00	\$0
		0001	0580	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	102.00	0.00	102.00	LF	0.00	\$21.20	\$0
		0001	0590	6200033	PREFORMED THERMOPLASTIC PAVEMENT MARKING, R/R CROSSING MARKER	2.00	0.00	2.00	EA	0.00	\$1,270.00	\$0
		0001	0600	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	0.00	\$0.11	\$0				
		0001	0610	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	112,950.00	0.00	112,950.00	LF	0.00	\$0.11	\$0
		0001	0620	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	7,674.00	0.00	7,674.00	SQYD	0.00	\$1.85	\$0
		0001	0630	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	1,323.00	0.00	1,323.00	SQYD	0.00	\$9.65	\$0
	Project J2	2S3302 - To	tal Value	Posted to D	ate as of Report Generated Date							\$5,300
	J2S3305	0001	0640	4091048	EMULSIFIED ASPHALT, SEAL COAT	11,840.00	0.00	11,840.00	GAL	0.00	\$2.15	\$0
		0001	0650	4099905	MISC.GRADE A2 LIGHTWEIGHT SEAL COAT AGGREGATE	42,284.00	0.00	42,284.00	SQYD	0.00	\$1.39	\$0
		0001	0660	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$500.00	\$0
		0001	0670	6161005	CONSTRUCTION SIGNS	1,032.00	0.00	1,032.00	SQFT	0.00	\$4.75	\$0
		0001	0680	6161009	FLAG ASSEMBLY	4.00	0.00	4.00	EA	0.00	\$8.47	\$0
		0001	0690	6161025	CHANNELIZER (TRIM LINE)	100.00	0.00	100.00	EA	0.00	\$16.00	\$0.
		0001	0700	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.00	\$2,300.00	\$0.
		0001	0710	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	8,944.00	0.00	8,944.00	LF	0.00	\$0.11	\$0
		0001	0720	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	17,568.00	0.00	17,568.00	LF	0.00	\$0.11	\$0
		2 S3305 - To			ate as of Report Generated Date							\$0
	J2S3306	0001	0730	4091048	EMULSIFIED ASPHALT, SEAL COAT	107,827.00	0.00	107,827.00	GAL	0.00	\$2.15	\$0
		0001	0740	4094012	SEAL COAT AGGREGATE, GRADE B2	385,098.00	0.00	385,098.00	SQYD	0.00	\$0.74	\$0
		0001	0750	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$500.00	\$0
		0001	0760	6161005	CONSTRUCTION SIGNS	2,753.00	0.00	2,753.00	SQFT	0.00	\$4.75	\$0
		0001	0770	6161009	FLAG ASSEMBLY	4.00	0.00	4.00	EA	0.00	\$8.50	\$0
		0001	0780	6161025	CHANNELIZER (TRIM LINE)	100.00	0.00	100.00	EA	0.00	\$16.00	\$0
		0001	0790	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	0.00	\$1,650.00	\$0

Revision 4/1/2020 Page 7 of 11



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
)2 J2	S3306	0001	0810	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	304,170.00	0.00	304,170.00	LF	0.00	\$0.11	\$0.00
		0001	0820	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	227,703.00	0.00	227,703.00	LF	0.00	\$0.11	\$0.00
		0001	0830	6209903	MISC.6 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	85.00	0.00	85.00	LF	0.00	\$5.30	\$0.00
Pr	oject J2	S3306 - To	tal Value	Posted to D	ate as of Report Generated Date							\$0.00
J2	S3331	0001	0840	4091048	EMULSIFIED ASPHALT, SEAL COAT	35,268.00	0.00	35,268.00	GAL	0.00	\$2.17	\$0.00
		0001	0850	4094012	SEAL COAT AGGREGATE, GRADE B2	125,956.00	0.00	125,956.00	SQYD	0.00	\$0.74	\$0.00
		0001	0860	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$500.00	\$0.00
		0001	0870	6161005	CONSTRUCTION SIGNS	1,730.00	0.00	1,730.00	SQFT	0.00	\$4.75	\$0.00
		0001	0880	6161009	FLAG ASSEMBLY	4.00	0.00	4.00	EA	0.00	\$8.50	\$0.00
		0001	0890	6161025	CHANNELIZER (TRIM LINE)	100.00	0.00	100.00	EA	0.00	\$16.00	\$0.00
		0001	0900	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.00	\$10,000.00	\$0.00
		0001	0910	6206000C	$4\ \mbox{IN}$. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	103,731.00	0.00	103,731.00	LF	0.00	\$0.11	\$0.00
		0001	0920	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	80,443.00	0.00	80,443.00	LF	0.00	\$0.11	\$0.00
Pr	oject J2	S3331 - To	tal Value	Posted to D	ate as of Report Generated Date							\$0.00
J2	S3348	0001	0930	3105002	GRAVEL (A) OR CRUSHED STONE (B)	34.00	0.00	34.00	TONS	0.00	\$76.50	\$0.00
		0001	0940	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	3,545.00	0.00	3,545.00	TONS	0.00	\$52.25	\$0.00
		0001	0950	4071005	TACK COAT	3,650.00	0.00	3,650.00	GAL	0.00	\$2.15	\$0.00
		0001	0960	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$500.00	\$0.00
		0001	0970	6161005	CONSTRUCTION SIGNS	910.00	0.00	910.00	SQFT	400.00	\$4.75	\$1,900.00
		0001	0980	6161009	FLAG ASSEMBLY	6.00	0.00	6.00	EA	6.00	\$8.50	\$51.00
		0001	0990	6161025	CHANNELIZER (TRIM LINE)	75.00	0.00	75.00	EA	75.00	\$16.00	\$1,200.00
		0001	1000	6161033	DIRECTIONAL INDICATOR BARRICADE	18.00	0.00	18.00	EA	0.00	\$26.50	\$0.00
		0001	1010	6161040	FLASHING ARROW PANEL	1.00	0.00	1.00	EA	1.00	\$795.00	\$795.00
		0001	1020	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.50	\$3,000.00	\$1,500.00
		0001	1030	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	20.00	0.00	20.00	LF	0.00	\$21.50	\$0.00
		0001	1040	6200033	PREFORMED THERMOPLASTIC PAVEMENT MARKING, R/R CROSSING MARKER	2.00	0.00	2.00	EA	0.00	\$1,271.00	\$0.00
		0001	1050	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	38,596.00	0.00	38,596.00	LF	0.00	\$0.11	\$0.00
		0001	1060	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	27,199.00	0.00	27,199.00	LF	0.00	\$0.11	\$0.00
		0001	1070	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	822.00	0.00	822.00	SQYD	822.00	\$5.85	\$4,808.70
		0001	1080	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	932.00	0.00	932.00	SQYD	932.00	\$5.60	\$5,219.20
	•				ate as of Report Generated Date	04 504 00	0.00	04 504 00	0.41	0.00	00.45	\$15,473.90
J2	S3349	0001	1090	4091048	EMULSIFIED ASPHALT, SEAL COAT	24,531.00	0.00	24,531.00	GAL	0.00	\$2.15	\$0.00
		0001	1100	4094012	SEAL COAT AGGREGATE, GRADE B2	87,611.00	0.00	87,611.00	SQYD	0.00	\$0.68	\$0.00
		0001	1110	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$500.00	\$0.00
		0001	1120	6161005	CONSTRUCTION SIGNS	938.00	0.00	938.00	SQFT	0.00	\$4.75	\$0.00
		0001	1130	6161009	FLAG ASSEMBLY	4.00	0.00	4.00	EA	0.00	\$8.50	\$0.00
		0001	1140	6161025	CHANNELIZER (TRIM LINE)	100.00	0.00	100.00	EA	0.00	\$16.00	\$0.00
		0001	1150	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.00	\$4,000.00	\$0.00
		0001	1160	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	71,356.00	0.00	71,356.00	LF	0.00	\$0.11	\$0.00
		0001	1170	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	41,716.00	0.00	41,716.00	LF	0.00	\$0.11	\$0.00
	Project J2S3349 - Total Value Posted to Date as of Report Generated Date											

Page 8 of 11 Revision 4/1/2020



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J2S3229

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location Fro Stati Lo Mil	tion/ Di	Offset/ istance S	To Station/ Log Mile	Offset/ Distance	Comments
0350	3105002	GRAVEL (A) OR CRUSHED STONE (B)	5/7/21	5/10/21	20.00	TONS	0.0	.000		8.515		Various entrances located on Rte A. No inspector was present to take a moisture content sample to determine if deductions needed to be made.
0360	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SUR	5/1/21	5/11/21	1,609.20	TONS	0.0	.000		3.742		Rte A SB from Hwy 6 towards Rte A/Rte M intersection
			5/3/21	5/11/21	907.90	TONS	4.3	.388		5.962		Rte A SB
			5/6/21	5/11/21	1,845.40	TONS	4.0	.084		8.074		NB Lane Rte A
			5/10/21	5/11/21	1,161.10	TONS	8.0	.076		8.515		Rte A SB Lane stopping at Rte 168
			5/11/21	5/12/21	0.10	TONS	0.0	.000		4.109		0.1 ton added to todays total to correct payment error on 4/30. 1641 tons paid on 4/30 but 1641.1 tons should have been paid.
				5/12/21	274.10	TONS	8.0	.074		8.515		Rte A NB completed at Hwy 168 Rte P Entrance
0370	4071005	TACK COAT	5/1/21	5/11/21	1,183.00	GAL	0.0	.000		3.742		150 Degree F (1215 Gal) Rte A SB from Hwy 6 towards Rte A/Rte M intersection
			5/3/21	5/11/21	703.00	GAL	4.3	388		5.962		SL Overlay Tack Coat 150 Degree F (722 gal)
			5/6/21	5/11/21	1,175.00	GAL	4.0	.084		8.074		NB Rte A
			5/10/21	5/11/21	900.00	GAL	8.0	.076		8.515		Rte A SB Lane Stopping at Rte 168 924 gal at 150 degree F
			5/11/21	5/12/21	292.00	GAL	8.0	.074		8.515		Rte A NB completed to Hwy 168 Rte P Entrance
0390	6161005	CONSTRUCTION SIGNS	5/3/21	5/11/21	160.00	SQFT	0.0	.000		8.515		- 2 Uneven Lane and 4 No Center Line Signs - 2 Flagger Ahead Symbol and 2 Be Prepared to Stop for Flagger Operations on Rte M and Rte P (W03-1 Stop Ahead used in place of W03-4 Be Prepared to Stop due to sign not existing in the template. The size is the same.)
			5/5/21	5/5/21	192.00	SQFT	0.0	.000		8.515		No Center Line - 4 Uneven Lanes - 8
			5/6/21	5/11/21	160.00	SQFT	0.0	.000		8.515		2 - No Center Line 8 - Uneven Lane
0410	6161025	CHANNELIZER (TRIM LINE)	5/5/21	5/5/21	-72.00	EA	0.0	.000		8.515		Channelizers were originally paid for at start of project but where not actually used once paving started. 5 were placed with each CMS and 3 were at each flagger station.
0420	6181000	MOBILIZATION	5/3/21	5/11/21	0.25	LS	0.0	.000		8.515		
			5/11/21	5/12/21	0.25	LS	0.0	.000		8.515		Rte A Marion

Project: J2S3348

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0970	6161005	CONSTRUCTION SIGNS	5/14/21	5/17/21	400.00	SQFT	0.025		3.745		56 - Rate Our Work Zone 2 1 - Road Work Next 4 Miles 2 59 - Work Zone No Phone Zone 2 26 - End of Road Work 2 2 - Road Work Ahead 6 4 - Speed Limit 55 2 5 - Right Lane Closed Ahead 2 6 - Right Lane Closed 1 12 - Merge Left 1 12 - Merge Left 1 54 - Work Zone 2 54 - Work Zone 2
0980	6161009	FLAG ASSEMBLY	5/14/21	5/17/21	6.00	EA	0.025		3.745		Flag Assemblies for Road Work Ahead Signs and Flagger Symbol Signs
0990	6161025	CHANNELIZER (TRIM LINE)	5/14/21	5/17/21	75.00	EA	0.025		3.745		Channelizers used for Rte 36 Right Lane Closure, Flagger Stations, and CMS boards
1010	6161040	FLASHING ARROW PANEL	5/14/21	5/17/21	1.00	EA	0.025		3.745		Used for Rte 36 Right Lane Closure
1020	6181000	MOBILIZATION	5/14/21	5/17/21	0.50	LS	0.025		3.745		50% of lump sum for sign placement and milling. Remaining 50% will come with paving and striping.
1070	6221001	COLDMILLING BIT. PAVT FOR REM OF SURF.	5/14/21	5/17/21	822.00	SQYD	2.2		2.27		Rte DD in front of Central Stone Entrances
1080	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	5/14/21	5/17/21	932.00	SQYD	0.025		3.745		Beginning of project and end of project transition. Railroad transitions on both sides. Transitions into and off of 1" mill/fill in front of Central Stone entrance.

The information below this line are details for Construction Signs (if applicable).

Project	Line Number	DWR Date	Total Quantity Posted For DWR Date	Sign Information	Station	Log Mile	Location	Number of Items	SF Each Sign	Special Sign	SF Each Special Sign	Total SF to Post
J2S3229	0390	April 19, 2021	76	GO20-2 48x24 8.00 END ROAD WORK		0.000		2.00	8			16
				CONST-7-48 48x24 8.00 RATE OUR WORK ZONE		0.000		2.00	8			16
				GO20-1 60x24 10.00 ROAD WORK NEXT XX MILES		0.000		2.00	10			20
				CONST-8 48x36 12.00 WORK ZONE NO PHONE ZONE		0.000		2.00	12			24
		April 29, 2021	288	WO20-4 48x48 16.00 ONE LANE ROAD AHEAD		0.000		6.00	16			96
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		0.000		6.00	16			96
				WO20-7a 48x48 16.00 FLAGGER (SYMBOL)		0.000		6.00	16			96
		April 30, 2021	75	GO20-4 36x18 4.50 PILOT CAR FOLLOW ME		0.000		1.00	4.5			4.5
				GO20-4a 42x30 8.75 PLEASE WAIT FOR PILOT CAR		0.000		4.00	8.75			35
		May 3, 2021	160	WO20-7a 48x48 16.00 FLAGGER (SYMBOL)		0.000		2.00	16			32
				WO3-1 48x48 16.00 STOP AHEAD (SYMBOL)		0.000		2.00	16			32
				WO8-11 48x48 16.00 UNEVEN LANES		0.000		2.00	16			32
				WO8-12 48x48 16.00 NO CENTER LINE		0.000		4.00	16			64
		May 5, 2021	192	WO8-12 48x48 16.00 NO CENTER LINE		0.000		4.00	16			64
				WO8-11 48x48 16.00 UNEVEN LANES		0.000		8.00	16			128

Revision 4/1/2020 Page 9 of 11



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work. The information below this line are details for Construction Signs (if applicable).

Project	Line Number	DWR Date	Total Quantity Posted For DWR Date	Sign Information	Station	Log Mile	Location	Number of Items	SF Each Sign	Special Sign	SF Each Special Sign	Total SF to Post			
J2S3229	0390	May 6, 2021	160	WO8-12 48x48 16.00 NO CENTER LINE		0.000		2.00	16			32			
				WO8-11 48x48 16.00 UNEVEN LANES		0.000		8.00	16			128			
	0390 - Total											915.5			
J2S3348	0970	May 14, 2021	400	G020-5aP 36x24 6.00 WORK ZONE (PLAQUE)		0.025		2.00	6			12			
				CONST-7-48 48x24 8.00 RATE OUR WORK ZONE		0.025		2.00	8			16			
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		0.025		6.00	16			96			
				GO20-1 60x24 10.00 ROAD WORK NEXT XX MILES		0.025		2.00	10			20			
				CONST-8 48x36 12.00 WORK ZONE NO PHONE ZONE		0.025		2.00	12			24			
				R2-1 36x48 12.00 SPEED LIMIT XX		0.025		2.00	12			24			
				WO20-5 48x48 16.00 RIGHT/CENTER/LEFT LANE CLOSED AHEAD		0.025		2.00	16			32			
							WO20-4 48x48 16.00 ONE LANE ROAD AHEAD		0.025		4.00	16			64
								WO20-7a 48x48 16.00 FLAGGER (SYMBOL)		0.025		4.00	16		
						WO4-1aL 48x48 16.00 MERGE (SYMBOL FROM LEFT)		0.025		1.00	16			16	
							WO20-6a 48x48 16.00 RIGHT/CENTER/LEFT LANE CLOSED		0.025		1.00	16			16
				GO20-2 48x24 8.00 END ROAD WORK		0.025		2.00	8			16			
	0970 - Total											400			

Revision 4/1/2020 Page 10 of 11



Line Item Adjustments by Estimate

Contract ID:190621-F01

Project	Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
Froject	Line	Description	Type	Adjustment	Number	Date	By	Amount	Remarks
1000000		DITUMBIQUE	N 4 - 4 i - 1	Туре	0	Marria	OVOTEM	£400 500 00	This adjustment off at the minimal protein and Material December
J2S3229	0360	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SUR	Material		3	May 3, 2021	SYSTEM	\$100,593.30	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user suttoc2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					3	May 3, 2021	SYSTEM	(\$100,593.30)	
						4	May 17, 2021	SYSTEM	\$455,998.44
					4	May 17, 2021	SYSTEM	(\$455,998.44)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
			Other Item Adjustment	ACAD	3	May 3, 2021	suttoc2	\$3,273.80	4/30 - 1641 tons SL Rte A
					4	May 17, 2021	suttoc2	\$0.19	Correction to Line Item Adjustment made on estimate 0003 on April 30th 2021. 1641 tons had been reported and \$3,273.80 had been added as the adjustment. 1641.1 tons should have been reported and \$3,273.99 should have been added as the adjustment.
					4	May 17, 2021	suttoc2	\$3,974.72	May 1, 2021 - 1,609.2 tons
					4	May 17, 2021	suttoc2	\$2,867.92	May 10, 2021 - 1,161.1 tons
					4	May 17, 2021	suttoc2	\$677.03	May 11, 2021 - 274.1 tons
					4	May 17, 2021	suttoc2	\$2,242.51	May 3, 2021 - 907.9 tons
				ACAD - Tota	4	May 17, 2021	suttoc2	\$4,558.14	May 6, 2021 - 1,845.4 tons
					al			\$17,594.31	
			Other Item /	Adjustment -	Total			\$17,594.31	
			Overrun	Overrun	4	May 17, 2021	SYSTEM	\$888.85	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) overridding Payment Estimate Exception 3 on the current Payment Estimate. Material Insufficiency Quantity 7438.800; Overrun Quantity Balance 14.50.
					4	May 17, 2021	SYSTEM	(\$888.85)	
				Overrun - T	otal			\$0.00	
			Overrun - T	otal				\$0.00	
	0360 -	· Total						\$17,594.31	
	0370	TACK COAT	Material		3	May 3, 2021	SYSTEM	\$3,409.90	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user suttoc2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					3	May 3, 2021	SYSTEM	(\$3,409.90)	
					4 M		SYSTEM	\$12,553.85	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user suttoc2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					4	May 17, SYS		(\$12,553.85)	
				- Total	- Total			\$0.00	
			Material - To	otal				\$0.00	
	0370 -	· Total						\$0.00	
J2S3229 -	Total							\$17,594.31	
Overall -	Total						\$17,594.31		